We're so similov!
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Two triangles are similar if the corresponding angles are congruent, and the
corresponding sides are proportional.

Similarity of Triangles:
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AABC ~ ADEF

Congruency: Z/A=/D, /B=/E, ZC = /F

AB BC AC

DE EF DF

When is a fewer number of congruences/proportionalities enough to conclude that
two triangles are similar?

Proportionality:




Side-Angle-Side(SAS) Similarity:
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Anagle-Angle(AA) Similarity:

AABC ~ ADEF



Side-Side-Side(SSS) Similarity: ‘N
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AABC ~ ADEF



Determine if the following pairs of triangles are similar:
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How tall is the tree?
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AABC ~ ADEF

Find the missing side measurements in ADEF .
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